
 

 

 
����ก�� ��	�
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(ก�����������������ก��) 

�. ��"#$�%&��  ���$��	 
(����%'�) 

 



ก�������	
���
����ก��

�   ���กก���	�
��
�����ก��
�����
��������ก��

1. �����	
���
ก
����ก�������
2. 	�ก	
����  2  	�� ��� 	��
�� � 	!�	����"�#�กก��
�� �
3. ��%�� ก�
&'�

�
������()%� ก�
      Fc = mac

�
�������กก�������()%� ก�
    *
��  Σ F = 0 Σ F = ma

** 	
�)�"��%�   ��� 	
���
 ��,�-�����%�*�.�'����/ก!��
	
�)�"��ก ��� 	
���
 ��,�-�����ก.�ก.�'����/ก!��
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Problems

1. �����ก%��*�0
� � �!  0.2 ก,&!ก
�   2�กก���)��ก���  40 �4��,� �
  	ก���	��!�ก��% ��5,ก�
.�*�	
��0��)��ก�6������ ����
��
7�  2  � �
����,����	!��)��ก��� �   ก��	��',
�60

ก��*�'  g  =  10  � �
����,����2 

1. 1  N 2. 2  N
3. 3  N 4. 8  N

2. �����2�ก�,'<!���)��ก  	!%�	ก����<=���ก! �� 	��
��'%�����
��
7�� �
��� �	��
>��ก
��  &'�
�� ����ก�
	ก����<=���ก!  = 30 �4��,� �
  	!������ � �!  0.8 ก,&!ก
� 
�)��ก���  50  �4��,� �
'��
�<  �%�  g  =  10  � �
����,����2  .�*�

(ก) ���'���	
��0��)��ก
(�) ���
��
7��),� � ��������
(�) ���
��
7��),���%���������
(�) �����!���������
(.) ��� ��
��������

60C

A

B C

0
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3. ����� �!  0.4  ก,&!ก
�   2�กก��<!���<
,����  0.5  � �
  	!� �����,.�<
,�  200  
�,�������� �
  ก��!��	ก����<=�
�<ก
��'��
�<  '%�����
��
7��),� �   10  �
�'�������,����  
.�*�����<
,�.���'��ก.�ก<ก�,����('
ก��*�'  g  =  10  � �
����,����2

1. 12.5  cm 2. 13.0  cm
3. 14.5  cm 4. 15.0  cm

4. )����*�0
� � �!  80  ก,&!ก
�   ���
�I<�� ���'%�����
��
7�����
  15  � �
����,����
�%�-�"���� �*!� ��
 �
�� ���� &�%�����ก��  60  � �
  	
���
������
�ก
����ก��)������"
6 ���	*�����
���'���*!� �<=�����('
ก��*�'  g  =  9.8  � �
����,����2 

1. 300  N
2. 484  N
3. 784  N
4. 1084  N
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5. �����  A  ���������&�L�
��40
�* ��I'%
��	ก�',
�&'�  A  ����*���	ก�* ��  0.5  � �

*�ก�� <
��,�M,N��� ����'���
�*���������  A  ก��-�"�&�L� ����I'% �ก��'�<=�  0.4
.�*������ �
�* ��&�L�
��	ก�',
�'%�����
��
7��),� � �����'����('  
�����  A  .0�.�I �I�!.�ก&�L�  ก��*�'  g  =  10 � �
����,����2

1. 2 rad/s

2. 2 2 rad/s

3. 3 2 rad/s

4. 4 2 rad/s

6. ����� �!  0.2  ก,&!ก
� &���,'ก�����40
���"�(�	��',
�'%���)��ก  2  ��%�'��
�<  ���* ��

�����������(*%�������!�
����
(�	����ก! (�
����
�'��&'� ����
��
7��),� � �����
<
�กO����)��ก��%�!��� �	
��0�  18.75  �,����  .�*����
��
7��),� � 
ก��*�'  g  =  10  � �
����,����2 

50 cm

50 
cm

80 cm
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7. �
0
��
�ก! ก!��P��(�!�
����*�0
� �
�� � 0.5 � �
  ���*������� ������ก%��*�0
��������
P��(��
�ก!  �%�������������.�ก����!�������
0
��
�ก!  0.2 � �
  �
0
��
�ก! ��".��%��
* ��
��	ก�',
�'%����� ��
����('
ก��*�'  g  =  10  � �
����,����2

1. 5

3 π
s−1

2. 10

3 π
s−1

3. 15

3 π
s−1

4. 20

3 π
s−1

8. �������!�
����
��
��&�%��
���	!�!�
�  40
� �
�� �  1  � �
  �6���!�
����
2���.�'�����' (.�' x)
 ����
��
7�  2  � �
����,����  .�*����
�����
�*����	
���

�����ก���������
.�'  x  ���	
�
��

��ก
����ก���������
.�'  y

1. 3/27
2. 27/3
3. 6/27
4. 27/6

0.2 m

2 m/sx

y
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Note :  "!��
���
"�#�����
$�%&��
"

.�ก
�<  �%�'�#�%���().�ก���	*�����
  1  �� �
�*���� �
7���
.�'��
  2
I'%.�ก         v2 = 2gH

9.  �!  m  �,'��
<!���)��ก��� l   	��!�ก��% ��5,ก����������  ��ก<!���.�ก���	*�����

��� �   ก��	��',
�'��
�<  � �
� �!��!�
����
�0����	*�����
�)��ก��� � ก��	��',
��<=�  90

��� �
��!�-M/ ��������('30

ก��*�'  g  =  10  � �
����,����2

1. 5 10 m/s2

2. 5 11 m/s2

3. 5 12 m/s2

4. 5 13 m/s2

H

1

2

H

1

2
!�
�

H

1

2
!�
�

H

1

2
!�
�

H

1

2

30C
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ก��
�����
���������!�&�$	�������ก��*
�+
��&,��
-,.�
6�ก�
	ก����������� �!  m  ��
2�กI�%��
 
<!���)��ก	!%�	ก����<=���ก! (�
����',
�
���-)& A :  �
�  R : =Fc mac

=T + mg
mvA

2

R

���  .��%����
��'� �
��)��ก-�'�*����vA

.�I'% mg =
mv

A(min)
2

R

=vA(min) Rg

.�ก =BBBB →→→→ CCCC : vB(min)
2

vA(min)
2 + 2gH

=vB(min)
2 ( Rg )2 + 2gR

=vB(min) 3Rg

.�ก =AAAA →→→→ CCCC : vC(min)
2

vA(min)
2 + 2gH

= ( Rg )2 + 2g(2R)

=vC(min) 5Rg

!,-�������-)&  A

�%� �������!�
����
�<=���ก! ���I<I'%�� ��%������
 (1)vA ≥ Rg :

�%� �����.���!�
����
	��&-
�.กI�!/�� ��%������
 (2)vA < Rg :

�%� : �����.��ก�� 	��',
�������,�
��� ��%������
 (3)vA = 0

R

mg
T

R

vA

vB
vC

B

A

C

A

1 2 3
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10. !�ก<Z� �!  0.2  ก,&!ก
�   ��!�
����
	��	��
��'%����� �
7�  � �
����,����103

)��<[� �!  2  ก,&!ก
�   40
�	�������'%���)��ก������  2  � �
  *!��)��<[���!�
����

�<=���ก! I'%������ ��
6/-�'�  !�ก<Z���!�
����
��ก.�ก�<[�'%����� �
7�ก�
� �
����,����
ก��*�'  g  =  10  � �
����,����2

1. 450  m/s 2. 900  m/s
3. 1350  m/s 4. 1800  m/s

11. ����)��ก��� 	!��*���� �ก��%�*�0
����  50  �4��,� �
  2�ก!�ก��%  �!  1.0  ก,&!ก
� ��

<!���%��*�0
�  �%�.��<!���)��ก��ก�%��*�0
�	ก���(*%!�ก��% ��!�
����
�<=���ก! (�
����
',
�'%�����
��
7������  3.0  � �
����,����  	
��0�(���%��)��ก ������
���'ก�
�,����
ก��*�'  g  =  9.8  � �
����,����2
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12. .�ก
�< �!  m  ��ก<!���(*%I�!!� ��� ���!�'40
�I � �	
�����'���  �%�*���'��
�<
 �
�� �  R  .�*����  h  .��%�� �����%����
��'����('  .0����(*%�������!�
����
�<=���ก! I'%
�
�
��-�'�

13. <!���!�กก! &!*� �!  m  kg  (*%��!�
����
�� 
���
����ก!�"��
�<��ก! (�
����',
�
.�ก���	*���  A  	
�ก
�������!�กก! &!*�(��,���"�#�กก��2,�
����
  B  �<=�ก�
�������  
C  �� 
�<  R  �<=�
�� ������ก! 

1. 1  ����
2. 2  ����
3. 3  ����
4. 4  ����

B

A

h

C
m

C

4R 2R

B

A
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14. ก%���������
�*!�
� ^ I�!!� ��� ���!�
���
I � �	
�����'���  40
����(�!�ก_6�'��
�<
�%�������
,
 ��!�
����
.�ก*��'�,
���
.�'  P  .�*����	
�<O,ก,
,����
ก
��������������
.�'  Q
 ����'  �<=�ก�
���������"�*��ก�����

1. 1  ����
2. 2  ����
3. 4  ����
4. 8  ����

15. !�ก��%  �!  m  	���'%���)��ก��� l   <!���!�ก��% !� �.�ก���	*���  A  40
��)��ก	�������
(�	��
�'��'��
�<  �6�� �
�!�ก��% ��!�
����
!� ���
���	*���  B  40
��)��ก��� �   60

ก��	��',
�  	
��0�(���%��)��ก�6���"�.��<=�����I
  (g  ������ �
��&�% ����)
1. 1

2
mg

2. 1mg

3. 3

2
mg

4. 5

2
mg

C

R
Q5R

P

B

l A

60C
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16. ก��*�'(*%'����
��*/  A   �
�� �  R   �!  M  	!� �'������ &�.

��'����
��*/
��

�'����� ���  h  .�ก2,�'����
��*/  '������ ��".�&�.
'%����� �
7�����('
ก��*�'(*%  G  =  �������
&�% ������ก!  
1. 2. 3. 4.GM

R+ h

2GM

R+ h

R+ h

GM

R+ h

2GM

17. '������ '��*�0
�&�.

��'����
��*/��
��� ���  h  .�ก-�"�2,�  �%�'����
��*/ �
�� �  R
	!� � �!  M  ���ก�
&�.
���'������ 
��'����
��*/��"����ก������('  � �
�  G  ������
����
&�% ������ก!

1. 2. 3. 4.2π (R+ h)
GM

2π(R + h)
GM

2π (R+ h)3

GM
π(R + h)2

GM
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